1
Time: 10 Minutes | Paper Math 8 (T-1) Total Marks: 10
| 1st Month, 2nd Week, 1st Day |Sub-domain 1I. Exercise 1.3. Q#1|

Q.1. Choose the correct options. (1 x 6 =6) -q’/vl';'l(..,«lﬁuj;
(i) Round the 4763 (2s.f.) to the given degree of accuracy.
It E5 S 28 ursin 1Y 47635
@] 4800 |m)| 4750 [@©| 4870 |@| 5000 |
(ii) Round the 785029 (3s.f.) to the given degree of accuracy.
it £S5 S33 80 1) 7185029
l(@)] 79500 [m)] 785000 [(©)] 795000 [(d)| 786000 |
(iii) Round the 8095321 (4s.f.) to the given degree of accuracy.
it B8 S8 A1) 80953215
()] 8096300 [(b)| 8095400 [(c)| 8095000 [(d)| 8096330 |
(iv) Round the 557632 (4s.f.) to the given degree of accuracy.
It B8 Saursn A1) 55763200
l(@)| 557700 |(b)| 3567600 [(e)| 547700 |(d)| 557600 |
(v) Round the 344651 (1s.f.) to the given degree of accuracy.
it ES S5 S A1 34465100
l(@)] 300000 [m)] 354000 [()] 350000 |[(d)| 3400000 |
(vi) Round the 28143 (2s.f.) to the given degree of accuracy.
_q)?wjﬁ;g{uymﬂ,wzf 2814324
l(@)] 28200 || 28000 [(©] 29200 [ 29100 |
Q.2.Answer the following questions. (1x4=4) -] ;..._«lzﬁavlruf s
(1) What is the round off 0.0289357 (5s.f.) to the given degree of accuracy.
i En S5 i 1£0.02893574 55
(i))Find the round off 2345987 (5.s.f.) to the given degree of accuracy.
I B Sons v AL 2345987456
(i11))What is the round off 0.780247 (é/ls.f.) to the given degree of accuracy.
NS St Urss 1£0.7802477 88
(iv) Find the round off 458625 (4s.f.)/t0 the given degree of accuracy.
-Q/;}ﬁjﬁ)d/gzﬂfurﬁf(”5458625&6{5)
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Q.1. Choose the correct options. (1 x 6 =06) -q’/h,«l‘s:'l(*lzw/)
(i) Round the 4763 (2s.f.) to the given degree of accuracy.
Uit E5 S 28 urin 1Y 47635
@] 4800 |m)| 4750 [@©] 4870 [@| 5000 |
(ii) Round the 785029 (3s.f.) to the given degree of accuracy.
it B8 S338 U 1 7850291
l@] 79500 [m)| 785000 [ 795000 [(@)| 786000 |
(iii) Round the 8095321 (4s.f.) to the given degree of accuracy.
it ES S Ui f1d 80953215
()] 8096300 [(b)| 8095400 [(e)| 8095000 [(d)| 8096330 |
(iv) Round the 557632 (4s.f.) to the given degree of accuracy.
Uit E5 S urin A 55763200
l@| 557700 |m)| 3567600 [(c)| 547700 [(d)| 557600 |
(v) Round the 344651 (1s.f.) to the given degree of accuracy.
it 5SS ursn A1 34465110
l@] 300000 [m)| 354000 [(©)] 350000 [@)] 3400000 |
(vi) Round the 28143 (2s.f.) to the given degree of accuracy.
-qﬁw..t?ﬁ;‘fuymﬂej;zf 28143246
l(@)] 28200 [m)| 28000 [ 29200 [@]| 29100 |
Q.2.Answer the following questions. (1x4=4) -] )g..«b?c':—c;«ﬂl}’(j“ R1O%)
(1) What is the round off 0.0289357 (5s.f.) to the given degree of accuracy.
it S5 i 21£0.02893574 55
(i1)Find the round off 2345987 (S.S.f.) to the given degree of accuracy.
iS5 i AL 2345987586
(i11))What is the round off 0.780247 (é/ls.f.) to the given degree of accuracy.
_qﬁwjﬁ;&mxfuym(7!10.780247ﬂ§f5)
(iv) Find the round off 458625 (4s.f.)/to the given degree of accuracy.
i 6 Sontdrs A1 458625056




